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(1) Statements:

I. The staff of Airport Authorities called off the strike they were observing in protest against privatization.

II. The staff of Airport Authorities went on strike anticipating a threat to their jobs.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [D]

Explanation: Both the statements I and II are effects of independent causes.
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(2) Statements:

1. Police resorted to lathi-charge to disperse the unlawful gathering of large number of people.

II. The citizens' forum called a general strike in protest against the police atrocities.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [A]

Explanation: As, police resorted to lathi-charge to disperse the unlawful gathering of large number of people, the citizens forum called a general strike
against the police atrocities.
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(3) Statements:

I. The government has decided to give tax benefits for small savings for investments and benefit accruals. However, all withdrawals of such
savings are to be taxed.

II. People have been investing more in small savings than in equity market to avail maximum tax benefits.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [C]

Explanation: Both the statements I and II are independent causes.



www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(4) Statements:

I. The performance of Indian sports persons in the recently held Olympics could not reach the level of expectation the country had on them.

II. The performance of Indian sports person in the last Asian games was far better than any previous games.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [E]

Explanation: Both the statements are effects of some common cause.
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(5) Statements:

I. Police authority has recently increased vigil during the evening hours in the locality.

II. There has been considerable reduction in the incidents of petty crimes in the locality.

[A] Statement I is the cause and statement I1 is its effect.
[B] Statement 11 is the cause and statement I is its effect.
[C] Both the statements I and II are independent causes.
[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [A]
Explanation: Since police authority has recently increased vigil during the evening hours in the locality therefore, the petty crimes have reduced
considerably.
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(6) Rahul put his timepiece on the table in such a way that at 6 P.M. hour hand points to North. In which direction the minute hand will point at
9.15SP.M.?
[A] South-East
[B] South
[C] North
[D] West
Answer : [D]

Explanation:
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At 9.15 PM., the minute hand will point towards west.
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(7) One morning after sunrise, Vimal started to walk. During this walking he met Stephen who was coming from opposite direction. Vimal watch
that the shadow of Stephen to the right of him (Vimal). To Which direction Vimal was facing?
[A] East
[B] West
[C] South
[D] Data inadequate
Answer : [C]
Explanation:

Sun rises in the east. So the shadow of a man will always falls towards the west. Since the shadow of Stephen is to the right of Vimal. Hence Vimal is
facing towards South.
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(8) Four friends A, B, C and D live in a same locality. The house of B is in the east of A's house but in the north of C's house. The house of C is in
the west of D's house. D's house is in which direction of A's house?
[A] South-East
[B] North-East
[C] East

[D] Data is inadequate

Answer : [A]
Explanation:
v B

¢ b

Therefore, D's house is in the South-East direction of A.
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(9) Sundar runs 20 m towards East and turns to right and runs 10 m. Then he turns to the right and runs 9 m. Again he turns to right and runs 5
m. After this he turns to left and runs 12 m and finally he turns to right and 6 m. Now to which direction is Sundar facing?

[A] East
[B] West
[C] North
[D] South
Answer : [C]
Explanation:
Original Paosition
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Therefore, it is clear that Sundar will face towards North.
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(10) Sachin walks 20 km towards North. He turns left and walks 40 km. He again turns left and walks 20 km. Finally he moves 20 km after
turning to the left. How far is he from his starting position?

[A]20 km.
[B] 30 km.
[C] 50 km.
[D] 60 km.
Answer : [A]

Explanation:
40 km

pL———
sokm E B

Required distance = 40 - 20 = 20 km.
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(11) Statements: All the harmoniums are instruments. All the instruments are flutes.
Conclusions:

I. All the flutes are instruments.

II. All the harmoniums are flutes.

[A] Only (1) conclusion follows
[B] Only (2) conclusion follows
[C] Either (1) or (2) follows

[D] Neither (1) nor (2) follows
[E] Both (1) and (2) follow
Answer : [B]

Flutes

Instruments

Harmoniums

Explanation: Only (2) follows.,
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(12) Statements: All the actors are girls. All the girls are beautiful.
Conclusions:

I. All the actors are beautiful.

II. Some girls are actors.
[A] Only (1) conclusion follows
[B] Only (2) conclusion follows
[C] Either (1) or (2) follows

[D] Neither (1) nor (2) follows



[E] Both (1) and (2) follow
Answer : [E]

Beautiful

Girls

Actors

Explanation: Both (1) and (2] follows.
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(13) Statements: No door is dog. All the dogs are cats.
Conclusions:

I. No door is cat.
II. No cat is door.
III. Some cats are dogs.

IV. All the cats are dogs.
[A] Only (2) and (4)

[B] Only (1) and (3)

[C] Only (3) and (4)

[D] Only (3)

[E] All the four

Answer : [D]

Cats Cats
Dogs (or) Dogs
Door Door

Explanation: Only (327 follows,
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(14) Statements: Some rats are cats. Some cats are dogs. No dog is cow.
Conclusions:

I. No cow is cat.
II. No dog is rat.

T Some cats are rats.
[A] Only (1)

[B] Only (1) and (2)

[C] Only (1) and (3)

[D] Only (2) and (3)

[E] Only (3)

Answer : [E]



Rats Dags
Cats {or Rats

Dogs Cows

@H Cows Cats

Explanation: Only (33 follows,
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(15) BCFG : HILM :: NORQ : ?

[A] TXWU

[B] TXUW

[C] TUXW

[D] TVWX

Answer : [C]

As Similarly

Bk N2 7
c s LN
N

Explanation: 6 —Cpu SRy
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(16) LKJ : pon :: ? : hgf

[A] dcle

[B] DBC

[C] ded

[D] DCB

Answer : [D]

AS Similarly

L4 p ot ah
k=0 c—=*%yg

Explanation: - —an Bty
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(17) AEFJ : KOPT :: 7 : QUVZ
[A] GKLP
[B] GLKP
[C] HKLP
[D] HKQL

Answer : [A]



As,

+1
1
& E F 3 : kK o P T
(I - L L
+4  +1  +4 +4  +1 44
Sirnilarly,
il
1
G K L P : Qoou w7
L LI ] L L
Explanation: +4  +1 44 +4  +1 14
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(18) QIOK : MMKO :: YAWC : ?

[A] UESG

[B] USGA

[C] VUES

[D] SUEG

Answer : [A]

A Similarly

o—2am v —% 4y
1 a4,
o—pk Vo

Explanation: k=50 c—*e
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(19) 68 : 130 :: 2 : 350

[A] 220

[B] 224

[C]222

[D] 226

Answer : [C]

Explanation:

As, 68 = (4)% + 4
130=(5)3+5

and 350 = (7)° + 7
Therefore, ? = (6)° + 6 =222
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(20) Glove : Hand
[A] Neck : Collar
[B] Tie : Shirt

[C] Socks : Feet

[D] Coat : Pocket



Answer : [C]

Explanation: As Glove is worn in Hands similarly Socks are worn on feet.

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com




